February 18, 2015

Division Point Totals JV Girls

Place	Team	Points
1st	Hastings	186
2nd	Elsik	148
3rd	Taylor	112
4th	Stratford	109
5th	NorthBrook	

February 18, 2015

Division Results JV Girls

100 M Dash

100 111 2 4011			
Place	Athlete	Team	Time
1st	Adekunle, Oluwaseyi	Hastings	13.44
2nd	Chucks, Sheila	Elsik	13.45
3rd	Nelson, Passionae	Elsik	14.01
4th	Campaz, Sasha	Elsik	14.06
5th	Daniella Allen	Taylor	14.09
6th	Jordan Hill	Taylor	14.84

200 M Dash

Place	Athlete	Team	Time
1st	Prince, Janay	Hastings	27.91
2nd	Samira Roby	Taylor	28.59
3rd	Chucks, Sheila	Elsik	28.62
4th	Jasmine Gibbs	Taylor	30.23
5th	Sydnia Mouton	Taylor	30.66
6th	Oyebode, Shalom	Hastings	31.90

400 M Dash

Place	Athlete	Team	Time
1st	Taylor, Lydia	Elsik	1:04.54
2nd	Ozioma, Esther	Elsik	1:06.13
3rd	Oku, Sukariba	Hastings	1:07.50
4th	Agboola, Zubaidat	Hastings	1:08.31
5th	Desiray Nix	Taylor	1:09.84
6th	Flores, Rebecca	Stratford	1:14.00

800 M Run

Place	Athlete	Team	Time
1st	Taylor, Lydia	Elsik	2:43.45
2nd	Achebe, Ezinne	Hastings	2:53.56
3rd	Rojas, Maria	Stratford	2:53.95
4th	Montano, Aracelis	Elsik	2:55.19
5th	Nkemdili Nebeolisa	Taylor	2:59.09
6th	Buck, Alli	Stratford	3:04.75

1600 M Run

Place	Athlete	Team	Time
1st	Romero, Jailene	Hastings	7:14.38
2nd	Sutton, Grace	Stratford	7:21.18
3rd	Tyra Johnson	Taylor	7:22.99
4th	Castellanos, Jennifer	Hastings	7:46.59
5th	Alberto, Marbella	Elsik	7:56.19

3200 M Run

Place	Athlete	Team	Time
1st	Sutton, Grace	Stratford	15:51.72
2nd	Tyra Johnson	Taylor	16:25.16

4 x 100 (400 M) Relay

Place	Athletes	Team	Time
1st	Cervantes, Anali	Stratford	28.17
	Dias, Michelle		
	Rodriguez, Dulce		
	Hernandez, Jatsiri		
2nd	Prince, Janay	Hastings	52.93
	Clements, Chyna		
	Burton, Talya		
	Adekunle, Oluwaseyi		
3rd	Omayi, Daisy	Elsik	53.53
	Akinyemi, Grace		
	Chucks, Sheila		
	Ozioma, Esther		
4th	Daniella Allen	Taylor	55.01
	Desiray Nix		
	Jasmine Gibbs		
	Samria Roby		

4 x 200 (800 M) Relay

Place	Athletes	Team	Time
1st	Achebe, Ezinne	Hastings	1:52.51
	Prince, Janay		
	Hunt, Brionna		
	Adekunle, Oluwaseyi		

February 18, 2015

Division Results (Continued...) JV Girls

4 x 400 (1600 M) Relay

4 x 400 (1600 M) Relay			
Place	Athletes	Team	Time
1st	Ozioma, Esther	Elsik	4:34.22
	Taylor, Lydia		
	Omayi, Daisy		
	Tillman, Aganae		
2nd	Achebe, Ezinne	Hastings	4:39.98
	Oku, Sukariba		
	Noil, Amya		
	Clements, Chyna		
3rd	AT#1	Taylor	4:54.07
	Samira Roby		
	Jordan Hill		
	Nkemdili Nebeolisa		
4th	Flores, Rebecca	Stratford	4:55.44
	Buck, Alli		
	Deaton, Amy		
	Rojas, Maria		
L		<u> </u>	<u> </u>

100 M Hurdles

Place	Athlete	Team	Time
1st	Hunt, Brionna	Hastings	17.15
2nd	Burton, Talya	Hastings	18.94
3rd	Dias, Michelle	Stratford	19.06
4th	Barton, Emma	Stratford	19.14
5th	Foster, Larencia	Elsik	19.25

300 M Hurdles

Place	Athlete	Team	Time
1st	Hunt, Brionna	Hastings	50.28
2nd	Foster, Larencia	Elsik	54.34
3rd	Barton, Emma	Stratford	54.37
4th	Dias, Michelle	Stratford	58.14
5th	Cervantes, Anali	Stratford	58.88
6th	Burton, Talya	Hastings	59.19

Long Jump

Place	Athlete	Team	Distance
1st	Samria Roby	Taylor	15-3 1/2
2nd	Chucks, Sheila	Elsik	14-1
3rd	Agboola, Sadiat	Hastings	12-9
4th	Alaina Semien	Taylor	12-4 1/2

Shot Put

Place	Athlete	Team	Distance
1st	Okeyemi, Fola	Hastings	32-1
2nd	Christina Ejefor	Taylor	23-8
3rd	Chung, Oanh	Elsik	22-11 1/2
4th	Ekene Okonkwo	Taylor	22-5
5th	Pitts, Mariah	Elsik	21-8
6th	Terry Tran	Taylor	21-4 1/2

Discus

Place	Athlete	Team	Distance
1st	Okeyemi, Fola	Hastings	72-8
2nd	Akinyemi, Grace	Elsik	72-8
3rd	Ekene Okonkwo	Taylor	71-2
4th	Chung, Oanh	Elsik	69-11
5th	Pitts, Mariah	Elsik	68-2
6th	Sillavong, Emma	Stratford	59-5

Triple Jump

Place	Athlete	Team	Distance
1st	Chucks, Sheila	Elsik	31-1
2nd	Муа	Elsik	27-11 3/4
3rd	Agboola, Zubaidat	Hastings	27-0

High Jump

Place	Athlete	Team	Height
1st	Barton, Emma	Stratford	4-4
2nd	Samira Roby	Taylor	4-2

Pole Vault

Place	Athlete	Team	Height
1st	Chen-Troester, Shay	Stratford	7-0

February 18, 2015

Division Results (Continued...) JV Girls

SMR (100-100-200-400)

Place	Athletes	Team	Time
1st	AH#1	Hastings	2:03.78
	AH#2		
	AH#3		
	AH#4		
2nd	Ta#5	Taylor	2:11.75
	Ta#4		
	Ta#3		
	Ta#2		
3rd	St#1	Stratford	2:16.91
	St#2		
	St#3		
	St#4		

February 18, 2015

Division Point Totals JV Boys

Place	Team	Points
1st	Taylor	147
2nd	Hastings	143
3rd	Elsik	139
4th	Stratford	108
5th	NorthBrook	36

February 18, 2015

Division Results JV Boys

100 M Dash

Place	Athlete	Team	Time
1st	John Mai	Hastings	11.63
2nd	Walker, Jesse	Taylor	11.66
3rd	Freeman, Dennis	Stratford	11.75
4th	Haydel, Jeremiah	Taylor	11.94
5th	Raymond Rhodes	Hastings	12.28
6th	Wadsworth, Raishon	NorthBrook	12.32

3200 M Run

Place	Athlete	Team	Time
1st	Lewis, Mike	Stratford	11:06.72
2nd	Saenz-Compollo, Seb	Stratford	11:07.19
3rd	Edwin Barrajas	Hastings	11:09.53
4th	Israel Porras	Hastings	12:56.87
5th	Omar Buentello	Hastings	13:30.10

200 M Dash

Place	Athlete	Team	Time
1st	Thompson, Marquiese	Taylor	23.06
2nd	Segun Adekunle	Hastings	23.59
3rd	Reginald Anokwuru	Hastings	23.73
4th	Imagbe, Joshua	Elsik	24.19
5th	Golden Vi-Ura	Hastings	24.20
6th	Caster, Deaundre	Taylor	24.61

400 M Dash

Place	Athlete	Team	Time
1st	Rucker, Eric	Taylor	54.13
2nd	Mourning, Brodrick	Taylor	56.45
3rd	Davis, Alonzo	Elsik	57.45
4th	Taku, Pierre	Taylor	59.79
5th	Bang, Daniel	Stratford	1:01.63
6th	Mosquera, Alfredo	Elsik	1:02.84

800 M Run

Place	Athlete	Team	Time
1st	Nyary, James	Taylor	2:13.47
2nd	Alarcon, Jose	Stratford	2:18.22
3rd	Williams, Nathan	Elsik	2:20.07
4th	Whelen, Grayson	Stratford	2:24.00
5th	Hernandez, Mauricio	Elsik	2:31.94
6th	Dixon, Darius	Stratford	2:39.42

1600 M Run

Place	Athlete	Team	Time
1st	Alarcon, Jose	Stratford	5:07.84
2nd	Saenz-Compollo, Seb	Stratford	5:13.34
3rd	Lewis, Mike	Stratford	5:22.84
4th	Williams, Nathan	Elsik	5:23.13
5th	Israel Porras	Hastings	5:25.07

4 x 100 (400 M) Relay

Place	Athletes	Team	Time
1st	Golden Vi-Ura	Hastings	44.84
	Fredrick Gonzales		
	Jamarcus Sloan		
	John Mai		
2nd	Collins, Clay	Stratford	48.14
	Lee, Grant		
	Kottwitz, Hunter		
	Freeman, Dennis		
3rd	Washington, Dontae	Elsik	52.59
	Martin, Alge		
	Imagbe, Joshua		
	Green, Micheal		

4 x 200 (800 M) Relay

	4 X 200 (000 W) Nelay			
Place	Athletes	Team	Time	
1st	Reginald Anokwuru	Hastings	1:34.72	
	Segun Adekunle			
	Fredrick Gonzales			
	John Mai			
2nd	Haydel, Jeremiah	Taylor	1:34.91	
	Walker, Jesse			
	Thompson, Marquiese			
	Yearwood, Winston			
3rd	Washington, Dontae	Elsik	1:38.41	
	Villacorte, Stephen			
	lyawe, Osasu			
	Ahmed, Wafeeq			
4th	Cherry, Mason	Stratford	1:43.63	
	Filla, Miller			
	Bang, Daniel			
	Hamiditar,			

February 18, 2015

Division Results (Continued...) JV Boys

4 x 400 (1600 M) Relay

Place	Athletes	Team	Time
1st	Yearwood, Winston		3:44.81
151	, '	Taylor	3.44.01
	Nyary, James		
	Mourning, Brodrick		
	Rucker, Eric		
2nd	Ahmed, Wafeeq	Elsik	3:56.55
	Villacorte, Stephen		
	Davis, Alonzo		
	Martin, Alge		
3rd	Terrance Lange	Hastings	4:06.09
	Jhonte' Hawkins		
	Adekunle Sulemon		
	Emmanuel Perkins		
4th	Hamiditar,	Stratford	4:11.19
	Filla, Miller		
	Komitsky, Matt		
	Bang, Daniel		

110 M Hurdles

Place	Athlete	Team	Time
1st	Adisepe, Abraham	Taylor	16.42
2nd	Adekunle Sulemon	Hastings	17.03
3rd	Terrance Lange	Hastings	17.29
4th	Martin, Alge	Elsik	17.41
5th	Shelton, Lawrence	Taylor	18.60
6th	Brandon Sheppard	Hastings	19.66

300 M Hurdles

Place	Athlete	Team	Time	
1st	Terrance Lange	Hastings	44.74	
2nd	Adekunle Sulemon	Hastings	46.08	
3rd	Shelton, Lawrence	Taylor	46.36	
4th	Brandon Sheppard	Hastings	46.75	
5th	Adisepe, Abraham	Taylor	48.00	

Long Jump

Place	Athlete	Team	Distance
1st	Villacorte, Stephen	Elsik	17-7
2nd	Haydel, Jeremiah	Taylor	16-9
3rd	Wadsworth, Raishon	NorthBrook	16-7
4th	Mendoza, Angel	NorthBrook	15-1
5th	Kottwitz, Hunter	Stratford	14-10

Shot Put

Place	Athlete	Team	Distance
1st	Lowe, Xavier	Elsik	43-6
2nd	Dent, Timothy	Elsik	38-2
3rd	Bellow, Kaleb	Taylor	36-4
4th	Ndukwe, Soloman	Elsik	35-5
5th	Sales, Malik	Stratford	32-8
6th	Vargas, Ramon	NorthBrook	29-9

Discus

Place	Athlete	Team	Distance
1st	Harper, Jordan	Elsik	99-9 1/2
2nd	Ndukwe, Soloman	Elsik	98-4
3rd	Bellow, Kaleb	Taylor	96-6
4th	Vargas, Ramon	NorthBrook	94-0
5th	Correa, Alejandro	Elsik	87-1
6th	Thomas, Jess	Stratford	77-0 1/2

Triple Jump

Place	Athlete	Team	Distance
1st	Mendoza, Angel	NorthBrook	32-11 1/4

High Jump

Place	Athlete	Team	Height
1st	Perez, Michael	NorthBrook	5-2

SMR (100-100-200-400)

SMR (100-100-200-400)			
Place	Athletes	Team	Time
1st	Washington, Dontae	Elsik	1:41.94
	Imagbe, Joshua		
	Pryce, Errol		
	Davis, Alonzo		
2nd	Rucker, Eric	Taylor	1:43.33
	Lazard, Quinton		
	Yearwood, Winston		
	Taku, Pierre		
3rd	Cedric Crumpton	Hastings	1:50.76
	Jamarcus Sloan		
	Alexis Aguilar		
	Reginald Anokwuru		
4th	Cherry, Mason	Stratford	1:52.81
	Mathias, Tommy		
	Bugio, Abdul		
	Bughio, Manan		

February 18, 2015

Division Point Totals 9th Boys

Place	Team	Points
1st	Stratford	182
2nd	Hastings	131
3rd	Taylor	113
4th	Elsik	10
5th	NorthBrook	6

February 18, 2015

Division Results 9th Boys

100 M Dash

Place	Athlete	Team	Time
1st	Hannah	Stratford	11.30
2nd	Griffin, Cavous	Taylor	11.31
3rd	Ellis, Chase	Stratford	11.56
4th	Eagles, Brennan	Taylor	11.58
5th	Marcus Griffin	Hastings	12.10
6th	Winters, Montrell	Taylor	12.68

3200 M Run

Place	Athlete	Team	Time
1st	Harper, Colby	Stratford	10:52.11
2nd	Droz, Sebastian	Stratford	11:48.63
3rd	Howell, Ben	Stratford	12:11.33
4th	Blanco, Arnie	Taylor	13:07.45

200 M Dash

Place	Athlete	Team	Time
1st	Eagles, Brennan	Taylor	23.85
2nd	Jaylen Jones	Hastings	24.50
3rd	Damon Alexander	Hastings	24.73
4th	Winters, Montrell	Taylor	25.97
5th	Colon, Jason	Taylor	26.25
6th	Cashiola, Anthony	Stratford	26.66

4 x 100 (400 M) Relav

	- I K 100 (100 III) Holay			
Place	Athletes	Team	Time	
1st	Lloyd Escobar	Hastings	47.13	
	Jaylen Jones			
	Damon Alexander			
	Donald Watts			
2nd	Hannah	Stratford	48.48	
	Nicholas, Derek			
	Ellis, Chase			
	Lowe, Collin			

400 M Dash

Place	Athlete	Team	Time
1st	Brown, Lavone	Taylor	53.72
2nd	Lowe, Collin	Stratford	56.84
3rd	Thomas, Camron	Taylor	57.95
4th	Jones, Christian	Taylor	1:00.34
5th	Garcia, Exel	NorthBrook	1:03.03
6th	Kani Wallace	Hastings	1:04.84

4 x 200 (800 M) Relay

Place	Athletes	Team	Time
1st	Jaylen Jones	Hastings	1:41.41
	Lloyd Escobar		
	Donald Watts		
	Samuel Oyebode		
2nd	Spurlock, Kenneth	Taylor	1:42.60
	Griffin, Cavous		
	Brown, Danerix		
	Williams, Devin		
3rd	Song, Matt	Stratford	1:50.05
	Davis, Gio		
	Nicholas, Derek		
	Cashiola, Anthony		

800 M Run

Place	Athlete	Team	Time
1st	Epei Orock	Hastings	2:17.32
2nd	Gomez, Gustavo	Stratford	2:19.72
3rd	Williams, Devin	Taylor	2:26.27
4th	Kallus, Austin	Stratford	2:26.60
5th	Alpha Jalloh	Hastings	2:36.53
6th	Reggie Nketiah	Hastings	3:09.95

1600 M Run

Place	Athlete	Team	Time
1st	Harper, Colby	Stratford	5:11.00
2nd	Gomez, Gustavo	Stratford	5:14.00
3rd	Kallus, Austin	Stratford	5:28.00

February 18, 2015

Division Results (Continued...) 9th Boys

4 x 400 (1600 M) Relay

4 X 400 (1000 IVI) Nelay			
Place	Athletes	Team	Time
1st	Eagles, Brennan	Taylor	3:50.69
	Brown, Danerix		
	Brown, Lavone		
	Williams, Devin		
2nd	Damon Alexander	Hastings	4:01.53
	Lloyd Escobar		
	Epei Orock		
	Samuel Oyebode		
3rd	Song, Matt	Stratford	4:25.83
	Duran, Keyshawn		
	Lowe, Collin		
	Davis, Gio		

SMR (100-100-200-400)

Place	Athletes	Team	Time
1st	Samuel Oyebode	Hastings	1:52.32
	Jakobe Garrison		
	Reggie Nketiah		
	Donald Watts		
2nd	Song, Matt	Stratford	1:54.19
	Cashiola, Anthony		
	Duran, Keyshawn		
	Chretian, Phillip		

Long Jump

Place	Athlete	Team	Distance
1st	Lowe, Collin	Stratford	16-5
2nd	Ellis, Chase	Stratford	15-1

Shot Put

Place	Athlete	Team	Distance
1st	Martin, Isaiah	Elsik	35-6
2nd	Wright, Keith	Taylor	34-8 1/2
3rd	J. Williams	Hastings	32-2 1/2
4th	R. Santos	Hastings	31-11
5th	Ramon, Julien	NorthBrook	30-6 1/2
6th	C. Mills	Hastings	29-4 1/2

Discus

Place	Athlete	Team	Distance
1st	Wright, Keith	Taylor	97-4 1/2
2nd	J. Williams	Hastings	87-4
3rd	R. Santos	Hastings	79-3
4th	Goodson, Kyle	Stratford	72-6 1/2
5th	Ramon, Julien	NorthBrook	69-5
6th	Farris, Collin	Stratford	67-4 1/2

Triple Jump

Place	Athlete	Team	Distance
1st	Lowe, Collin	Stratford	36-9 1/2
2nd	Collins, Clay	Stratford	30-1